
Hemolytic interference 
in determination of 
Troponin I and T
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Recommendations from ESC

The Troponins I and T have become key 
components for diagnosing of AMI.

Recommendations for the quality of the analyses 
have therefore been set up: 

The quality demands are 
CV < 10 % 
at the 99 percentile for the reference population. 
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Set-up of the EQA-scheme

Normally:
3 different samples
Make a double determination of each sample
Report each single result

Investigating the interference:
2 identical samples, the one hemolysed
1 more sample
Report all results in double determination
Report a comment on how the hemolysed 
sample normally would be treated.
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Preparation of 
the hemolysed sample

Serum with Troponin was divided into 2 parts

900 µL hemolysed whole blood from a donor 
was added per L to the one part 
of the EQA-material with Troponin

900 µL serum from a donor 
was added per L to the other part 
of the EQA-material with Troponin
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HIL index

Definition:
A HIL index: H=1 => 1 mg/dL

1 mg/dL = 10 mg/L = 0.621 µmol/L Hemoglobin

A conc. of app. 0.1 mmol/L Hemoglobin
was the intention of the ”interference”

A HIL index of 185 was reported = 0.11 mmol/L for the 
interference
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Set-up of the EQA-scheme

Normally:
3 different samples
Make a double determination of each sample
Report each single result

Investigating the interference:
2 identical samples, the one hemolysed
1 more sample
Report each single result of the double determination
Report a comment on how the hemolysed sample 
normally would be treated.
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A report
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A report
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A report
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Text report
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The effect of interference on results
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Comments on preanalyses of 
Troponin T

At HIL index > 99 results will not be 
given. The HIL index was 185
Comment to the doctor: 
”The answer cannot be delivered 
because of  hemolyses.”

”Hemolysed sample. No result.”
”Sample material hemolysed”

No comment from ½ of  the laboratories
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Comments on preanalyses of 
Troponin I

• No procedure for hemolysed 
samples. The sample would not be 
rejected under normal conditions.

• The HIL index was 1,85. The limit 
for the HIL index is 5 g/L. The 
answer would be given. 



Questions, comments
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